MATHS

BOOKS - RS AGGARWAL MATHS
(HINGLISH)

MEAN , MEDIAN AND MODE OF
UNGROUPED DATA

Solved Examples



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. The  heights of five players are
153em, 140cm, 148cm, 150ecm and 154cem
respectively. Find them mean height of the five

players.

o Watch Video Solution

2. Find the mean of the first six multiples of 3.

A.10.5

B. 12

C.21


https://dl.doubtnut.com/l/_JvFTmiZRp1x6
https://dl.doubtnut.com/l/_CKH5Zqyay9Ax

D. none of these

Answer: A

° Watch Video Solution

3. Find the mean of first eight prime numbers.

° Watch Video Solution

4. if the mean of 6,8,9, x, 13, is 10, find the

value of .


https://dl.doubtnut.com/l/_CKH5Zqyay9Ax
https://dl.doubtnut.com/l/_d3LGf6k0y8K5
https://dl.doubtnut.com/l/_3Z576ByVTJe9

A.15

B.14

C.16

D. 17

Answer: B

° Watch Video Solution

5. If the mean of the observation
x,t+3,x+5 x+7 and x4+ 10 is 9, then

mean of the last three observations is


https://dl.doubtnut.com/l/_3Z576ByVTJe9
https://dl.doubtnut.com/l/_QKaeym0xmQhH

B. 31

C.32

D. 33

Answer: A

° Watch Video Solution

6. The mean of five numbers is 30. If one number
is excluded, their mean becomes 28. The

excluded number is



https://dl.doubtnut.com/l/_QKaeym0xmQhH
https://dl.doubtnut.com/l/_K4CCHk0kHKnp

° Watch Video Solution

7.The mean of the height of six girls is 148 cm. if
the individual heights of five of them are

150cm, 146cm, 142cm  and  145¢m, find  the

height of the sixth girl.

A. 161 cm

B.151 cm

C.171

D. 181


https://dl.doubtnut.com/l/_K4CCHk0kHKnp
https://dl.doubtnut.com/l/_fpa9HlL7hNbi

Answer: B

o Watch Video Solution

8. The mean of 40 numbers was found to be 38.
Later on, it was detected that a number 56 was
misread as 36. find the correct mean of the given
numbers.

A. 40.5

B. 38.9

C.34.5


https://dl.doubtnut.com/l/_fpa9HlL7hNbi
https://dl.doubtnut.com/l/_ehKnzfE4CJnw

D. 48.5

Answer: B

° Watch Video Solution

9. The mean of 25 observation is 36. Out of
these observations, if the mean of first 13
observations is 32 and that of the last 13

observations is 40, the 13th observation is

A. 33


https://dl.doubtnut.com/l/_ehKnzfE4CJnw
https://dl.doubtnut.com/l/_0E9mSltS1jpN

C. 36

D. 46

Answer: C

° Watch Video Solution

10. The mean of 100 iterms was found to be 64.
Later on it was discovered that two items were
misread as 26 and 9 instead of 36 and 90

respectively. Find the correct mean.

o Watch Video Solution



https://dl.doubtnut.com/l/_0E9mSltS1jpN
https://dl.doubtnut.com/l/_X3lR2Sb5J3NZ

11. The mean weight of a class of 35 student is 45
kg. if the weight of the teacher be included, the
mean weight increases by 500g. Find the weight

of the teacher.

o Watch Video Solution

12. The aveage temperature of Monday, Tuesday
and Wednesday was 40°C . The average
temperature of Tuesday, Wednesday and

Thursday was 41°C . If the temperature on


https://dl.doubtnut.com/l/_J8tKEv6L8nOu
https://dl.doubtnut.com/l/_45j4JHwNUiCf

Thursday was 42° C' what was the temperature

on Monday ?

o Watch Video Solution

13. A cricketer has a mean score of 58 runs in
nine innings. Find out how many runs are to be
scored by him in the tenth innings to raise the

mean score to 61.

o Watch Video Solution



https://dl.doubtnut.com/l/_45j4JHwNUiCf
https://dl.doubtnut.com/l/_6P5imP5yBKyk

14. Batsman in his 12t inning makes a score of
63 runs and thereby increases his average score

by 2. His average after the 12th inning will be :

o Watch Video Solution

15. A train travels between two stations A and
B. While going from A to B, its average speed
is 80 km/hr, and when coming back from B to A.
Its average speed is 120 km/hr. find the average

speed of the train during the whole journey.


https://dl.doubtnut.com/l/_ZVGplkCoAGCM
https://dl.doubtnut.com/l/_vBCb9GgTLmEG

A. 96 km /hr

B. 94km /hr

C. 95km/hr

D. 90 km /hr
Answer: A

o Watch Video Solution

16. The mean of 8 numbers is 25. If 5 is
subtracted from each number, what will be the

new mean ?


https://dl.doubtnut.com/l/_vBCb9GgTLmEG
https://dl.doubtnut.com/l/_EMJOEmdidF7h

A. 26

B. 24

C.20

D. 22

Answer: C

° Watch Video Solution

17. The mean of 16 numbers is 8. If 2 is added to

every number, what will be the new mean?

o Watch Video Solution



https://dl.doubtnut.com/l/_EMJOEmdidF7h
https://dl.doubtnut.com/l/_H17uZRYL2MIi

18. There are 50 numbers. Each number is
subtracted from 53 and the mean of the number
so obtained is found to be = 3.5. The mean of

the given number is

O Watch Video Solution

19. The following table shown the weights of 12

persons of a health clud:


https://dl.doubtnut.com/l/_H17uZRYL2MIi
https://dl.doubtnut.com/l/_EUvbqsutctDL
https://dl.doubtnut.com/l/_VugkwEppefEv

F Weight (in kg) 67 70 \
[Numberof persons 4 3 \ 2

Find the mean weight per person.

° Watch Video Solution

20. The heights of 100 plants in a garden are

given below :

Height (in cm)
A

1

60 64 68 72 76

Number of plants

1

find the mean height per plant.

o Watch Video Solution



https://dl.doubtnut.com/l/_VugkwEppefEv
https://dl.doubtnut.com/l/_7nnNhXt30pAn
https://dl.doubtnut.com/l/_5fV5OBgegjXa

21. If the mean of the following data is 18.75 , find

the value of p.

X; 10 15 P 25 30
f; 5 10 7 8 2

° Watch Video Solution

22. The mean of the following data is 21.6 find

the value of p.

% 6 12 18 24

I
f 5 4 p 6\4\6J

A D


https://dl.doubtnut.com/l/_5fV5OBgegjXa
https://dl.doubtnut.com/l/_M3laIy012frW

B.6

C.7

D.8

Answer: A

° Watch Video Solution

23. The mean of the following frequency

distribution is 1.46.

No. ofaccidents(x) | 0 | 1 | 2 | 3 | 4 | 5 Total
No. of drivers(f) | 46 | 2 | 2 | 25|10 | 5 200

Find the missing frequencies.


https://dl.doubtnut.com/l/_M3laIy012frW
https://dl.doubtnut.com/l/_34gXfbsUAKid

A.76, 38

B. 36, 75

C. 39, 66

D. 30, 79

Answer: A

° Watch Video Solution

24. The runs scored by 11 members of a cricket

team are


https://dl.doubtnut.com/l/_34gXfbsUAKid
https://dl.doubtnut.com/l/_UyrEX0NUhFHr

15,29,43,13,31,50,20,0,27,56,34

find the median score.

° Watch Video Solution

25. The weights of 10 students ( in kilograms) are
36,45,31,52,35,40,55,60,38,44 Find the median

weight

° Watch Video Solution



https://dl.doubtnut.com/l/_UyrEX0NUhFHr
https://dl.doubtnut.com/l/_PNF1lhUoyyX4

26. Ten observations 6,14,15,17 x+1,2x-
13,30,32,34,34 are written in an ascending order.

The median fo the data is 24. find the value of x.

o Watch Video Solution

27. Find the mediann of the data
61,92,41,57,43,71,58,99,108. fi 58 is replaced by 85,

what will be the new median ?

o Watch Video Solution



https://dl.doubtnut.com/l/_sHH8bUEbNGBY
https://dl.doubtnut.com/l/_sertceMh2prF

28. Arranging the given data in an ascending
order, we get

14,1414 ,14,17,18,18,18,22,23,25,28

Here, 14 occurs most often .

Hence , mode of the given data =14.

° Watch Video Solution

29. The point scored by a basketball team in a
series of matches are as follows
17,2, 7,27, 25,5, 14, 17, 18, 24, 25, 27, 28, 48.

Find the median and mode of the above data.



https://dl.doubtnut.com/l/_fYWReKfs53g9
https://dl.doubtnut.com/l/_CB1Qyfkc95E5

‘ o Watch Video Solution

30. The following number of goals were scored
by a team in a series of 10 matches :
2,3,4,5,0,1,3,3,4,3

Find the mean, median and mode of these

scores.

o Watch Video Solution

31. In a mathematics test given to 15 student ,

the following makes ( out of 100) are recorded :


https://dl.doubtnut.com/l/_CB1Qyfkc95E5
https://dl.doubtnut.com/l/_eUs53llHCEI3
https://dl.doubtnut.com/l/_t5fql9tY3DNm

52, 60, 42, 40, 98, 52, 48, 39, 41, 62, 46, 52, 54, 40, 96
find the mean, median and mode of the given

data

o Watch Video Solution

Exercise 18 A

1. Find the mean of :
(i) The first eight natural numbers
(ii) the first ten odd numbers

(iii) the frist seven multiples of 5.


https://dl.doubtnut.com/l/_t5fql9tY3DNm
https://dl.doubtnut.com/l/_rx3ccLS97RpW

(iv) all the factors of 20

(v) all prime numbers between 50 and &0.

o Watch Video Solution

2. The number of children in 10 families of a
locality are 2,4,3,4,2,03,516. Find the mean

number of children per family.

° Watch Video Solution



https://dl.doubtnut.com/l/_rx3ccLS97RpW
https://dl.doubtnut.com/l/_t9kd7AjufXrS

3. The followings are the numbers of books
issued in a school library during a week .
105,216,322,167,273,405,and 346

find th avegage number of books issued per day.

° Watch Video Solution

4. The daily minimum temperature recorded ( in
.° F') at a place during six days of a week was as

under :

Monday | Tuesday | Wednesday | Thursday
355 308 27.3 321

find the mean temperature .


https://dl.doubtnut.com/l/_bGuiMxRFsBRQ
https://dl.doubtnut.com/l/_XNZLLE8Llame

o Watch Video Solution

5. if the mean of five observations x,
X+2,x+4 x+6x+8 is 13 , find the value of x and
hence find the mean of the last three

observations.

° Watch Video Solution

6. The mean weight of 6 boys in a group is 48 kg.

the individual weight of five of them are


https://dl.doubtnut.com/l/_XNZLLE8Llame
https://dl.doubtnut.com/l/_bLSl2dMJHcEy
https://dl.doubtnut.com/l/_IX5yGDnssC8j

51kg,45kg,49%kg,46kg and 44kg. Find the weight

of the sixth boy.

o Watch Video Solution

7. The mean of the marks scored by 50 students
was found to be 39 later on, it was observed that
a score was 43 was misread as 23 find the correct

mean.

° Watch Video Solution



https://dl.doubtnut.com/l/_IX5yGDnssC8j
https://dl.doubtnut.com/l/_mGfeaOuzosqc

8. The mean of 24 numbers is 35. if 3 is added to

each number, what will be the new mean ?

o Watch Video Solution

9. The mean of 20 numbers is 43. if 6 is

subtracted from each of the numbes what will

be the new mean ?

° Watch Video Solution



https://dl.doubtnut.com/l/_49MptNBX5fBX
https://dl.doubtnut.com/l/_VGryGY9yvwUx

10. The mean of 15 numbers is 27. if each number
is multiplied by 4, what will be the mean of the

new numbers ?

o Watch Video Solution

11. The mean of 12 numbers is 40. if each number
is divided by 8, what will be the mean of the new

numbers ?

° Watch Video Solution



https://dl.doubtnut.com/l/_C1yoNhAaPJKZ
https://dl.doubtnut.com/l/_vztlB9CSsIIa

12. The mean of 20 numbers is 18. if 3 is added to
each of the first ten numbers, find the mean of

the new set of 20 numbers.

o Watch Video Solution

13. The mean of six numbers is 23. If one of the
numbers is excluded , the mean of the remaining

numbers is 20. find the excluded number.

o Watch Video Solution



https://dl.doubtnut.com/l/_LgYCWAzzE1tg
https://dl.doubtnut.com/l/_td3aYVPDpcKu

14. The average height of 30 boys was calculated
to be 150 cm. it was detected later that one
value of 165 cm was wrongly copied as 135 cm for
the computations of the mean. Find the correct

mean.

° Watch Video Solution

15. The mean weight of a class of 35 student is
45 kg. if the weight of the teacher be included,
the mean weight increases by 500g. Find the

weight of the teacher.



https://dl.doubtnut.com/l/_91Vluw35n8gF
https://dl.doubtnut.com/l/_8ozmHs8rAEhm

‘ o Watch Video Solution

16. In a class there are 50 students. Their average
weight is 45 kg. When a student leaves the class,
the average is reduced by 100 g. Find the weight

of the student who left the class.

° Watch Video Solution

17. The average weight of a class of 39 students

is 40 kg. when a new student is admitted to the


https://dl.doubtnut.com/l/_8ozmHs8rAEhm
https://dl.doubtnut.com/l/_dywAtRLZ18n9
https://dl.doubtnut.com/l/_dz5zMXUL1mGh

class, the averages decreases by 200 g. find the

weight of the new student.

o Watch Video Solution

18. The average weight of 15 oarsmen in a boat is
increased by 1.6kg when one of the crew, who
weighs 42 kg is replaced by a new man. Find the

weight of the new man (in kg).

° Watch Video Solution



https://dl.doubtnut.com/l/_dz5zMXUL1mGh
https://dl.doubtnut.com/l/_3aJpp6jlM5iS

19. The mean of 8 numbers is 35. if a number is
excluded then the mean is reduced by 3. find the

excluded number.

o Watch Video Solution

20. The mean of 150 items was found to be 60.
Later on, it was discoverved that the values of
two items were misread as 52 and 8 instead of

152 and 88 respectively. Find the correct mean.

o Watch Video Solution



https://dl.doubtnut.com/l/_GLaJ7EmPAMrg
https://dl.doubtnut.com/l/_PNj7hkAiC1OK

21. The average of 11 results is 60. If the average
of first six results is 58 and that of last six is 63,

find the 6th result. (a) 66 (b) 55 (c) 64 (d) 68

o Watch Video Solution

22.The mean 11 numbers is 42. if the mean of the
frist 6 numbers is 37 and that of the last 6

numbers is 46, find the 6th number.

o Watch Video Solution



https://dl.doubtnut.com/l/_Xlu7S4ZbyxHb
https://dl.doubtnut.com/l/_vJc1qtZhVn8U

23. The mean weight of 25 students of a class is
52 kg. if the mean weight of the first 13 student
of the class is 48 kg and that of the last 13
students is 55kg , find the weight of the 13th

student.

° Watch Video Solution

24. The mean score of 25 observations is 80 and

the mean score of another 55 observations is 60.

Determine the mean score of the whole set of

observations.



https://dl.doubtnut.com/l/_GUnENTbACPKG
https://dl.doubtnut.com/l/_WFHd1jUw6QrT

‘ o Watch Video Solution

25. Arun scored 36 marks in English , 44 marks in
Hindi, 75 marks in mathemations and x marks in
science . If the has secured an average of 50

marks, five the value of x.

° Watch Video Solution

26. A ship sails out an island at the rate of

15km/hr and sails back to the starting point at


https://dl.doubtnut.com/l/_WFHd1jUw6QrT
https://dl.doubtnut.com/l/_7IDtlHBjHq8c
https://dl.doubtnut.com/l/_6BKU8DaeHJWE

10km/hr . Find the average sailing speed an

average speed for the whole journey.

o Watch Video Solution

27. There are 50 students in a class, of which 40
are boys. The average weight of the class is 44
kg and that of the grils is 40 kg. find the average

weight of the boys.

° Watch Video Solution



https://dl.doubtnut.com/l/_6BKU8DaeHJWE
https://dl.doubtnut.com/l/_86Bj49p51tz7

28. The aggregate monthly expenditure of family
was 18720 during the first 3 months. ¥20340
during the next 4 months and ¥21708 during the
last 5 months of year. If the total savings during
the year be ¥35340 find the average monthly

income of the family.

o Watch Video Solution

29. The mean monthly salary paid to 75 workers
in a factory is Rs 5680. The mean salary of 25 of

them is Rs 5400 and that of 30 others is Rs 5700.


https://dl.doubtnut.com/l/_DIwqP86Wk7Dp
https://dl.doubtnut.com/l/_2Y6a2H0gdJ1H

The mean salary of the remaining workers is (a)

Rs 5000 (b) Rs 6000 (c) Rs 7000 (d) Rs 8000

o Watch Video Solution

30. The mean marks (out of 100) of boys and
girls in an examinatin are 70 and 73, respectively.
If the sum mean marks of all the students in that
examination is 71, find the ratio of the number of

boys to the number of girls.

o Watch Video Solution



https://dl.doubtnut.com/l/_2Y6a2H0gdJ1H
https://dl.doubtnut.com/l/_Qudlzih80GMo
https://dl.doubtnut.com/l/_IpFe8hLCqr91

31. The average monthly salarly monthly salary of
20 workers in an office is ¥45900. if the
mangers's salary is added then average becomes
T 49200 per month. What's manger's monthly

salary ?

o Watch Video Solution

Exercise 18 B

1. Obtain the mean of the following distribution :

Variable (x;) 4 6 8 10 12
Frequency (f) 4 8 14 11 3



https://dl.doubtnut.com/l/_IpFe8hLCqr91
https://dl.doubtnut.com/l/_vTJoDg6nxZMW

‘ ° Watch Video Solution

2. The following table shows the weights of 12

workers in a factory :

Weight (in kg) 60 63 66 69 72

No. of workers 4 3 2 2 1

find the mean weight of the workers.

o Watch Video Solution

3. The measurements ( in mm) of the diameters

of the heads of 50 screws are given below :


https://dl.doubtnut.com/l/_vTJoDg6nxZMW
https://dl.doubtnut.com/l/_bZMW63EsHxJ7
https://dl.doubtnut.com/l/_zIROHFKtHNFk

( Diameter (in mm) (x;) 34 37 40 43 46
Number of screws {f;) 5 10 17 12 6

Calculate the mean diameter of the heads of the

screws.

o Watch Video Solution

4. The followings data give the number of boys

of a particular age in a class of 40 students

Age(inymrs)l 15 16 17 18 19 20
Frequency (f) | 3 8 9 1 6 3

Calculate the mean age of the students.

o Watch Video Solution



https://dl.doubtnut.com/l/_zIROHFKtHNFk
https://dl.doubtnut.com/l/_hS8XbgD0qoQZ

5. Find the mean of the followings frequency

distribution :
Variables (x) 10 30 50 70 89
Frequency (1)) 7 8 10 15 10

o Watch Video Solution

6. Find the mean of daily wages of 40 workers in

a factory as per data given below:

" Daily wages (n®)(x) | 250 | 300 | 350 | 400 | 450 |
[Numberofworkers(ﬁ) 8 n 6 10 \ 5‘_\

o Watch Video Solution



https://dl.doubtnut.com/l/_XoR51vftTTSi
https://dl.doubtnut.com/l/_IhT5dZm3kJNh
https://dl.doubtnut.com/l/_zx78obXioj7U

7. If the mean of the following dat is 20.2, then

find the value of p.

x| 10 IRE 20 25 30

I |
f_ 6 | 8 p 10 6

Ap =20
B.p = 30
C.p=10
D.p = 50
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zx78obXioj7U
https://dl.doubtnut.com/l/_kZ6c6UzTIAjL

8. The mean of the following data is 8.

X 3 5 7 9

11

13

y | 6 | 8 115 p

Then, the value of p is

o Watch Video Solution

9. Find the missing frequency p for the following

frequency distributions whose mean is 28.25.

L.\‘ ] 15 J 20 25 30

35

Lf]al/" p 14

15

® |
¢ |

° Watch Video Solution



https://dl.doubtnut.com/l/_kZ6c6UzTIAjL
https://dl.doubtnut.com/l/_hCz8U50Cqthq

10. Find the value of p for the following

frequency distribution whose mean is 16.6.

15

20

o Watch Video Solution

11. Find the missing frequencies in the following

frequency distribution whose mean is 34.

10

20

30

40

50

60

f 4

f

8

h

3

4

Tetal
35

° Watch Video Solution



https://dl.doubtnut.com/l/_m2oktVLdbVDW
https://dl.doubtnut.com/l/_MafP7gKYMidq
https://dl.doubtnut.com/l/_zFwIhUr6WIX1

12. Find the missing frequencies in the following

frequncy distribution whose mean is 50.

&2

o Watch Video Solution

13. Find the value of p, when the following

distribution is 20.

IR 17 19 20+p 23

Lf’z 3 4 5p 6

o Watch Video Solution



https://dl.doubtnut.com/l/_zFwIhUr6WIX1
https://dl.doubtnut.com/l/_6FtSvjCvbeyS
https://dl.doubtnut.com/l/_UFYjXz6S89Fe

14. The mean of the following distribution is 50.

fx 10 30 50 70 \ 9

\
[ 7 17 5a+3 32 7a-11 | 19|

Find the value of a and hence the frequencies of

30 and 70.

° Watch Video Solution

Exercise 18 C

1. find the median of:
(i) 2,10,9,9,5,2,3,7,11

(i1) 15,6,16,8,22,21,9,18,25


https://dl.doubtnut.com/l/_UFYjXz6S89Fe
https://dl.doubtnut.com/l/_WbuelltfQMuD

(ii1) 20,13,18,25,6,15,21,9,16,8,22

(iv) 7,4,2,5,1,4,0,10,3,8,5,9,2

° Watch Video Solution

2. Find the median of:
(i) 17,9,32,10,22,21,9,35
(ii) 72,63,29,51,35,60,55,91,85,82

(i11) 10,75,3,15,9,47,12,48,4,81,17,27

o Watch Video Solution



https://dl.doubtnut.com/l/_WbuelltfQMuD
https://dl.doubtnut.com/l/_YA0X8ZVRxQGJ

3. The marks of 15 students in an examinations

are

25,19,17,24,23,29,31,40,19,20,22,26,17,35,21.

find the median score.

° Watch Video Solution

4.The heights (in cm) of 9 students of a class are
148,144,152,155,160,147,150,149,145.

find the median height.

o Watch Video Solution



https://dl.doubtnut.com/l/_O4KXOeEGZ1UK
https://dl.doubtnut.com/l/_2gmoRKzggjXM

5. the weights ( in kg) of 8 children are ltbr.
13.4,10.6,12.7,17.2,14.3,15,16.5,9.8

Find the median age.

o Watch Video Solution

6. The age ( in years) of 10 teachers in a school
are

32,44,53,47,37,54,34,36,40,50.

o Watch Video Solution



https://dl.doubtnut.com/l/_WCkMLdO3CSnQ
https://dl.doubtnut.com/l/_bniZiw4Nhjpo

7. If 103,158 x+1x+3,30,32,35,41 are ten
observations in an ascending order with median

24, find the value of x.

o Watch Video Solution

8. The following obsevations are arranged in
ascending order :
26,29,42,53 xx+2,70,75,82,93

if the median is 65, find the value of x.

o Watch Video Solution



https://dl.doubtnut.com/l/_kX5LXEvUVfdS
https://dl.doubtnut.com/l/_P8WQBGadEz2Z

0. Numbers
50, 42, 35, 2z + 10, 2z — 8, 12, 11, 8 are
written in descending order and their median is

25, find x

o Watch Video Solution

10. Find the median of the data
46,41,77,58,35,64,87,92,33,55,90
In the above data, if 41 and 55 are replaced by 61

and 75 respectively, what will be the new median

?



https://dl.doubtnut.com/l/_qDLlXMmUooFT
https://dl.doubtnut.com/l/_W4te9b28BnMJ

‘ o Watch Video Solution

Exercise 18 D

1. Find the mode of the following iterms.

0,6,5,1,6,4,3,0,2,6,5,6

° Watch Video Solution

2. Determine the mode of the following values of
a variable.

23,15,25,40,27,25,22,25,20


https://dl.doubtnut.com/l/_W4te9b28BnMJ
https://dl.doubtnut.com/l/_dY7qviCOCxqK
https://dl.doubtnut.com/l/_pTqgfulf7tXo

° Watch Video Solution

3. Calculate the mode of the following sizes of
shoes sold by a shop on a particular day.

5,9,8,6,9,4,3,9,1,6,3,9,7,1,2,5,9

o Watch Video Solution

4. A cricket player scored the following runs in 12
one-day matches :
50,30,9,32,60,50,28,50,19,50,27,35.

find his modal score.


https://dl.doubtnut.com/l/_pTqgfulf7tXo
https://dl.doubtnut.com/l/_kQPbSC4jToFZ
https://dl.doubtnut.com/l/_bdOVpX3YAysm

° Watch Video Solution

5.1f the mean of the data 3,21,25,17,(x+3),19,(x-4) is
18, find the value of x. Using this value of x. find

the mode of the data.

o Watch Video Solution

6. The numbers 52,53,54,54,(2x+1),55,55,56,57
have been arranged in an ascending order and
their median is 55. find the value of x and hence

of the given data.


https://dl.doubtnut.com/l/_bdOVpX3YAysm
https://dl.doubtnut.com/l/_LY66Pq73XuO7
https://dl.doubtnut.com/l/_dsG7emesn1Sy

o Watch Video Solution

7. For what value of x is the mode of the data
24.15,40,23,27,26,22,25,20 x+3 found 25 ? USing of

X, find the median.

o Watch Video Solution

8. The numbers 4243,44 44,
(2x+3),45,45,46,47have been arranged in as

ascending order and their medain is 45. find the


https://dl.doubtnut.com/l/_dsG7emesn1Sy
https://dl.doubtnut.com/l/_23t0vreLY42e
https://dl.doubtnut.com/l/_85q6IgiYhaen

value of x. Hence , find the mode of the above

data.

° Watch Video Solution

Multiple Choice Questions Mcq

1. If the mean of five observations

x, t+ 2, t+4, ¢+ 6, x + 81s 11, then the

mean of first three observations is

A5

B.6


https://dl.doubtnut.com/l/_85q6IgiYhaen
https://dl.doubtnut.com/l/_8EfjykZZDPRr

C.7

D.8

Answer: C

o Watch Video Solution

2. If the mean of the observation x, x+3, x+5, x+7

and x+10 is 9, then mean of the last three

observations is

A 10—

B.10—


https://dl.doubtnut.com/l/_8EfjykZZDPRr
https://dl.doubtnut.com/l/_AZmGQRXX3Q7o

C.11-

D.11—

Answer: C

o Watch Video Solution

3. if T is the mean of
i=1
X1, Ly, L3, ...., L, then Z (z; — ) =7
n

° Watch Video Solution



https://dl.doubtnut.com/l/_AZmGQRXX3Q7o
https://dl.doubtnut.com/l/_tTPfK7bELWUE

4.1f each observation of the data is decreased by

8 then their mean

A. remains the same

B. is decreased by 8

C.is increased by 5

D. becomes 8 times the original mean

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_U7dZDxxjMoZd

5. The mean weight of 6 boys in a group is 48 kg.
the individual weight of five of them are 51kg, 45

kg, 49kg, 46kg and 44kg. Find the weight of the

sixth boy.

A. 52 kg

B.52.8 kg

C.53 kg

D. 47 kg

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_r9mRC0j0JYIb

6. The mean of the marks scored by 50 students

was found to be 39 later on, it was observed that

a score was 43 was misread as 23 find the correct

mean.

A.38.6

B.394

C.3938

D.39.2

Answer: B

| &N


https://dl.doubtnut.com/l/_r9mRC0j0JYIb
https://dl.doubtnut.com/l/_PYT9esP26Qsh

[ W Watch Video Solution ]

7. The mean of 100 items was found to be 64.

Later on it was discovered that two items were

misread as 26 and 9 instead of 36 and 90

respectively. The correct mean is

A. 64.86

B. 65.31

C. 64.91

D. 64.61

Answer: C


https://dl.doubtnut.com/l/_PYT9esP26Qsh
https://dl.doubtnut.com/l/_JDBNQhhrdhyl

° Watch Video Solution

8. The mean of 100 observation is 50. If one of

the observation which was 50 is replaced by 150,

the resulting mean will be

A.50.5

B. 51

C. 515

D. 52

Answer: B



https://dl.doubtnut.com/l/_JDBNQhhrdhyl
https://dl.doubtnut.com/l/_04ct0ZMWO7mW

° Watch Video Solution

9.Let £ be the mean of 1, 9, ........., x, and
y bethe mean of y1, y9, .........., y,. If Z is the
mean of
L1y Ty vvveevevuennenne e Ly Yly YDy v vvnenneenenyUp

, then 2 is equal to

A (z +y)

%(fvﬂj)
C. %(:}3 + y)

0. 5 (% + )


https://dl.doubtnut.com/l/_04ct0ZMWO7mW
https://dl.doubtnut.com/l/_iiPwaB7q5GNk

Answer: b

o Watch Video Solution

10. If x is the mean of 1, x9, .............

then for

a

AL, ALYy « v e v vu ®

IS

7 0,

L1
y ALy, —

the

Y

L2
a

§ o 0 00 0 00 0 00 o

mean


https://dl.doubtnut.com/l/_iiPwaB7q5GNk
https://dl.doubtnut.com/l/_abxeY76t2l2d

Answer: B

o Watch Video Solution

nmiIfx,x9,%3,.........T, are the means of n
groups with n{,ng,............, n, number of
observations, respectively, then the mean Z of all
the groups taken together is given by

n

1=1

n —
B. n;x;
Z 2

i=1

n


https://dl.doubtnut.com/l/_abxeY76t2l2d
https://dl.doubtnut.com/l/_sCQTiyq0fQT4

c D ioq NI
Z 1 (ni)

D. Z ’I’LZCCZ

Answer: C

° Watch Video Solution

12. The mean of the following data is 8.

x | 35719 |1]13
y | 6| 8 15| p | 8| 4

Then, the value of p is

A. 23


https://dl.doubtnut.com/l/_sCQTiyq0fQT4
https://dl.doubtnut.com/l/_FDudspLC5TVt

B. 24

C.25

D. 21

Answer: C

o Watch Video Solution

13. The runs scored by 11 members of a cricket
team are
15,34,56,27,43,29,31,13,50,20,0.

The median score is


https://dl.doubtnut.com/l/_FDudspLC5TVt
https://dl.doubtnut.com/l/_J2fothtibwxg

A. 27

B. 29

C.31

D. 20

Answer: B

° Watch Video Solution

14. The weight of 10 students (in kg) are
55,40,35,52,60,38,36,45,31,44.

The median weight is


https://dl.doubtnut.com/l/_J2fothtibwxg
https://dl.doubtnut.com/l/_HNy35OWCB9wM

A. 40 kg

B. 41kg

C.42 kg

D. 44kg

Answer: C

° Watch Video Solution

15. The median of the numbers 4,4,5,6,7,712,3,12 is

A 4


https://dl.doubtnut.com/l/_HNy35OWCB9wM
https://dl.doubtnut.com/l/_IXXpfTUUCyo4

B.5

C.6

D.7

Answer: C

° Watch Video Solution

16. The median of the numbers

84,78,54,56,68,22,34,45,39,54 is

A. 45


https://dl.doubtnut.com/l/_IXXpfTUUCyo4
https://dl.doubtnut.com/l/_HCFfyGtM5CaW

B.49.5

C.54

D. 56

Answer: C

° Watch Video Solution

17. Mode of the data

15,17,19,14,18,15,14,20,19,14,15,19,14 is

A 14


https://dl.doubtnut.com/l/_HCFfyGtM5CaW
https://dl.doubtnut.com/l/_hUFBkGXOVxdR

B.15

C.16

D. 17

Answer: A

° Watch Video Solution

18. The median of the data arranged in
ascending order
8,9,12,18, (z + 2), (z + 4), 30, 31, 34,39, is

24. The value of x is


https://dl.doubtnut.com/l/_hUFBkGXOVxdR
https://dl.doubtnut.com/l/_VkoKQ3wI4K0g

A. 22

B.21

C.20

D. 24

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VkoKQ3wI4K0g

